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In which of the methods of teachi ICT

support is implied?

forerur @t ferr faferent # 218 o < wwel= fafga
&7

(a) Lecture method/aAReA fafer

(b) Buzz session/TfSid &7 H

(c) Interactive presentation/37d:fshareen &dfd o
(d) MOOCs/TR3TIAETH (o) |




MOQOCs are online courses available to

anyone with @ computer and Internet
connection. So, ICT support is implied
in this method.

———

w33 U 3TTers

qTSAhA &) oteTeh T hoeX

3 3e3de AT &1 T, 3

%qa%ﬂ%r\ H A fATga
|




\7./ In which of the following research methods,
manipulation and control of variables, and

randomization of samples are two basic
requirements?

frefafga § | form oner faftr & =/ aftad= o
TR (Aftucior) ofiv fagsur qen wfaeyt @
ATETSIRITT, ol TeT U &7

\/q(a) Ex-post facto research/&ATL e

(b) Descriptive research/dUlHIHh NI

~

(¢) Case study research/ed Y

\},ﬂ) Expenmental resea h/WﬂF%‘




The e imental method features th@ W
of a6 independent vgriable, the measurement of a w
dependent variable, and control of extraneous \ \;/J'/d-/\
variables. o' //

The manipulation of 'independent variable' and
control of 'extraneous variables' is quite impossible
in the Ex post facto method.
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Under GATS, higher_education policies are to
be framed by which of the following

Departments?

‘Tew' g & JER Joo forem HaEt
Hfifeen ot famior g 9 9 foew faamr g
Wmﬁ%ﬁ%

(a) Education/f3rem

(b) External Affairs/faer

(¢) Commerce and Trade/arir=g wd \?ﬁm
(d) Urban Planning/¥@d fFasm




* Inthe year 2000, a meeting was held and all the
member countries of WTO were involved in a
new round of negotiations which is known as
GATS (General Agreement on Trade in Services).

\°/The world Trade Organization is an international
organization with global trading rules.

\/ The primary function of WTO is to ensure that
trade flows smoothly and freely.

« WTO is committed to liberalizing trade and has
included education in the list of the services of
global trade rules.

WTO in its meeting Propososed that four-
member countries need to develop the
liberalization of trade in education and in the
year ZOOO,Eommerce and trade bepartment
was given the responsibility to frame higher
education policies.

* Therefore, Under GATS, higher education

policies are to be framed by Commerce and
Trade.
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In order to be eligible for the status of "Deemed
to be University', an institution, must fulfill
other essential conditions along with the
following options, what other achievement are
mandatory.

arftaa fasgfasmas a9 ht 3TEdT1T 9aTeT <RI oh

g, fepdt S <% a1, 37X 3Tfarst o1af <kt

qIT =RIT ok @rer-"rer, faateaRaa faskear O &

T 31T Sactie=rar ardr sfrar=t 82

(a) At least 2 research publications i1n peer
reviewed as SCOPUS/WOS journals per year

per faculty/Sfad Hahta # ufa a9 THEehall gadifara
SUET T 9 3T 97 I TEH/Esey 3T TH S+ H
T O HH 2 T =HT THISTT ST

(b) At least 5 research publications 1n peer
reviewed as SCOPUS/WOS journals per vyvear
per faculty/dfd Skt # gfd a9 Oaehall gadfsta
SOET T I 3T 9 g TEH/Esey. 3T TH SiHd o
HT I A 5 T =hT THISTA Sl

(c) At least 1 research publications 1n peer
reviewed as SCOPUS/WOS journals per year

per faculty/Sfd H<ht H Sfad a9 SH<hall gadfard
TS T T 37 97 g wH/sSscyg. 3 T SHa H
T O HH 1 I KT F=HT1ST ST

(d) At least 3 research publications 1n peer
reviewed journals per year per faculty

ofar Eehta # "fa ad wHssall gadfara stgar oH
ST TE/Ss0 ALTH. SiHaT H 9 § A 3
STl ShT 9hIST ST




What does Scopus mean?
Scopus is a bibliographic database containing abstracts and citations for
academic journal articles. It covers nearly 21,000 titles from over 5,000

publishers, of which 20,000 are peer-reviewed journals in the scientific,
technical, medical, and social sciences.
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What does deemed to be university means?

"An Institution of Higher Education, other than
universities, working at a very high standard in
specific area of study, can be declared by the Central
Government on the advice of the UGC as an
Institution Deemed-to-be-university."
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(W)

Out of the given four options which one does
not belong to the class of other three?

e fau U o_faweut o | i 91 3 |
grfuTa © Heifrd g 87
Neurologist, ngdiologist, Alchemist,

Gynecologist /t""// NV = /7
GIECIMRCEIC] feorest, (SRftemR,

BT fergras

(a) Gynecologist/®T fogme
(b) Cardiologist/@?ﬂﬁﬂ ERLE
(¢) Alchemist/@fHEmR "
(d) Neurologist/dfeh fazmt
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"Mr. X is penniless. Therefore, he should be
given preference in admission to college'. This

reasoning represents which kind of fallacy?
" e T T §

o gy 3 # ader feen W e g @ R
- @ﬂmm%a’rﬁrwmy
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\(b) Ad misericordiam/tg faSifaifeam J

(¢) Ad baculum/Ug e
(d) Ignoratio elenchi/ZIRTET Zei-hre
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What is ad Misericordiam philosophy? @ M /

Appeal to Pity (Ad Misericordiam) Description: The
argument attempts to persuade by p_rovoking irrelevant
feelings of sympathy.

a1 & fore 3rdier (fas9sT Misericordiam) faavor: de
T8 cl T ITITHIINP HTTAT3I DT HSHTH il el Hl
U T &




bling of data before transmission across
a network to avoid manipulation by a third
party is known as...............

fordt g war g0 W-UX ¥ w=d ok o
fordft Aok ® HoRw & Ud ST faen
( TRIITATT ) Shl T Shgl SITdT g7

(a) Protection/5&I0T  (b) Permutation/shH=d
(c) Detection/3T¥=ITH [d) Encryption/'olcgdelosdj




What is encryption and example? UleehC2leT &l UTUTHH 36¢3T T
Why are encryption used? ﬁmwmmmmﬁﬁr_

 The primary purpose of A hTYY sicde U THIRd
encryption is to protect the %ﬁ?ﬁ?ﬂﬁﬁ’ﬂﬁﬂﬁ?ﬁ
confidentiality of digital data HIAT & | HI&TT b 3elldl, TloohCelel
stored on computer systems or I 3-|t—|o-||o-|| KETSE 3-|o-|l~||<>10-| I
transmitted over the internet or T e chl MQWT@Q‘QH?I?IT
any other computer network. In %’I

addition to security, the adoption
of encryption is often driven by
the need to meet compliance
regulations.



Given below are two statements - one is
labelled as Assertion (A) and the other as
Reason (R).
Hir=r 3T (A) T 9k (R) h ©9 | & sheaT
oo w1 &:
Assertion/3IT3TaherT (A) :

\/It 1s crucial to sustain Himalayan ecosystem
ferATer=i aiiid= =l sHTaH WIAT 3 _Hewagul € |
Reason/d<h (R) :

Himalayan ecosystem 1s home to a number of
indigenous species

In the light of the above two statements choose
the correct option.

SOITh &I ehelAl oh 3TTeieh O, 9T faaheca Hi—Q:

(a) Both (A) and (R) are true and (R) 1s the
correct explanation of (A)/(A) 3T (R) &A1
& 2 3T (R). (A) 3 OST =TT 2 |

(by/Both (A) and (R) are true and (R) 1s not the
correct explanation of (A)/(A) 3T (R) a0
T @ 37T (R), (A) B TSI ==E==r 981 2 |

{(c) (A) is true but (K) 1s talse -
(A) & 2, 9%d (R) 7TAd @ |

(d) (A) is false but (R) 1s true
(A) Tad 8, 9% (R) H&r 2|




A measure such as building a plinthwall for
floods would be termed as

a1 Uehd oh T et (feten) dam a9 S
U ehil AT Thgl STUIT?

(A

(a) Preparedness/Jd I
(b) Prevention/f<druT / r/‘:\/—j
(c) Mitigation/IMH — =

(d) Adaptation/3HAJhl




Questions Nos. Comprehension (26-30)
Consider the table given below and answer the
questions that follow—

WIAT ohT 3ET @ —

Publishing | Number | Ratio of | Percentage No. of
House of Books | Academic| of Books | Distributors
Wh19TH | Published | and Non- )D‘tﬁﬁbuted in

T UHIITT | Academi Tt~ Publishing
gEahi ekt gEAhi oAl House
) A feraent
Vv gxaeht D
<hl
S v/
A 28200 7:3 81 17
32200 s 74 23
(c) 29700 6:5 92 18
. 31200 8:5 86 24
(E ) 33800 7:6 78 26
: 35700 11:6 82 21
G 37800 513 89 24

What is the total number of books distributed
by publishers C and E?

yawTeh C 3R E W faafia uiashi @l 6

&l Toha-T g2
(@ 53688 (b) 54026
) 27513 (d) 27324




Questions Nos. Comprehension (26-30)
Consider the table given below and answer the
questions that follow—

ﬁtr%ﬁg?rmﬁﬂwmﬁmrmmngwm

| T ST g
Publishing | Number | Ratio of | Percentage No. of
House of Books | Academic| of Books | Distributors
YRt | Published | and Non- | Distributed in
waT TR f{%mic faaft@ | Publishing
AT St ooks QAT oAl House
T | FEREE | ghpe | TEEE TR
iR 13_1. o ferewant
S Caric &t W=
Tkl ol
3TqaTeT
A 28200 7:3 81 17
B 32200 5:9 74 23
C 29700 6:5 92 18
D 31200 8:5 86 24
E 33800 7:6 78 26
~F 35700 11:6 82 21
/ G 37800 13 | 89 24
What is the average number of non-academic
book published by publishers F G" TSN
YRl F AR G g mfﬁm
QEehi ahi aﬁ'q?r T ferat g2
(a) 18850 T i—l—&%ﬂ. . \/
(c) 19850 (d) 19950




| Questions Nos. Comprehension (26-30)

Consider the table given below and answer the

questions that follow—

frefafga arferarr W faam &td U 36 W Imamia

If the total number of books published by
publishers D, E and F is increased by 20% and
the total number of books published by the
remaining publishers be decreased by 20%,

; FoAT T IT - then what will be the average of books
P uft;lishing hi‘ “l;nbir ARag(’ of | P e;'c;ntige i l;(i)l.)of published by all the publishers?
ouse 0 00KS caaemic 0 00KS 1S utors mﬁm m‘
Y9 | Published | and Non- | Distributed in e m, D, E 3 F Bl ~ Tmﬁ
L YO | Academic| faaRa Publishing | et &0 k| 20%&'@ Bt § 37T IS JehroTent
gei @t | Books | gwmamiwr | House | g graent ® 20 wivwra @Y @t ardt § a woft
T e wieryTe ﬁﬁﬁ%-g WehTITehl GRT WeRTIIT Uikl af e feram
ITERTE @t wE 2 =
T (am (b) 32518
. U ©) 33318 (d) 36610
AN 28200 7:3 81 17
v B 32200 5:9 74 23 ¢ (.‘.. =
vV C 29700 6:5 92 18 ‘D
D raﬁoo 8:5 86 24 1\ "LE})
E 33800 7:6 78 26
F_ | 35700 | 11:% 82 21 7’-5/2,\50 \’)'0
v G 5:13 89 24 13&4" /




| Questions Nos. Comprehension (26-30)

Consider the table given below and answer the

questions that follow—

Trafafiga arfaer ox fa= ovta 3@ 3@ oY emaia

| gt @Rt IR G —

Publishing | Number Ratio of | Percentage No. of
House of Books | Academic| of Books | Distributors|
Wh1ITH Published | and Non- | Distributed in

T UehRTIITa | Academic faaiRa Publishing
&Rt eht Books q 3 House
T TSRS Heh TR T
3ThIS TR &t "H=T
gkl Rt —
SFAT
A 28200 7:3 81 17
B 32200 5:9 74 23
T 29700 6:5 92 18
31200 8:5 86 e
E ) 33800 7:6 @3 )
F 35700 11:6 82 21
G 37800 13 89 24

I;l(;w many books w‘elle given to each
distributor by publisher E, if each distributor

gets equal number of books?

gfe gk T 0 ueeh

firereht ¥ Ay
forarft gearsh &t T oft?
(a) 1024
(c) 986 ( 62

ﬁ@
(b) 1014 \/
962




@
BCD stands for

st .. hr arae g

(a) Binary Coded Decimal/dE2-d shige SHHA
(b) Binary Coded Digit/agad shies fefse

(¢) Bit Coded Decimal/fae shiee SdHd

(d) Bit Coded Digit/faie siee fefee




)

The most relevant effect of particulate matter
in air, on human health is:

arg | hUTTehY Ugrel ohi SUfEIfd okl OTHA

O U¥ Aaiterer UTEiites qura fa=afaRaa &

o I 9T %/
(a) Impaired blood formation/Th AT exfazreaan
b),Chest congestion/&Tdl H Seha

(
\(/’{ Aggravation of respiratory dlseases
AT Gae TN hl @l

(d) Headache and rise in blood pressure level

Tiae 3 wha &R # gfg




/ @
Which of the following schemes of Government

of India aims to support innovative research
projects that are socially relevant, locally need
based, nationally important and globally
significant?

TR G aht eAferRad ferd AT ot Se9d
TR ST TRETSTeT @ w3
T WHINTR W0 UTERTeR, T Tayeehdr
ITEY, UHT T | Agwauul e afeh Wewd
ol Bl

(a) SPARC/UH Ul T 31R —
[ (b) STRIDE/wg &t a1 a1 &1 § \ —

(c) IMPRESS/3TE UH U1 3R 3 U TH
(d) STARS/t® &t T 3K UH —




(W

Which one of the following represents one
billion characters?

frafafiga § ¥ &9 1 o1 (fafeam) dorerun
T gferemaur 2 -
(a) 1 Kilobyte/l fopett amge
(b) 1 Megabyte/l W @<
(©) 1 Gigabyte/1 T a2 N/
(d) 1 Terabyte/l UEIEC




onsider the following argument:

Frfefaa @eh ot fasm s

Major Premise : No squares are rectangles
Minor Premise : All 1 rectangles are circles

g YR a1 ¢ dig ff atl SIdrsR A2l g

T YR A 9t 3T g A 2 P

Conclusion/f-TsHH: J/ S (
/ Some circles are not squares/$® g1 ok

What is the Mood of the above proposition?
IUAThH 3T aTeRT ah & T fa=md g7 E]

A M

>

(a) ALE (b) AEO
(c) EAO (d) EA
— Rl O/
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Which one of the following allows a phone call
to be routed over network wires?

fifera # @ forad Aeadh arad & dreaw 9
Tah Thidl hicT TeRTT ST Tehdl &7 9

(a) Video Conferencing/fafgat sHi=hfdm \

(b) Teleconferencing/2el hISHT

(c) Optical Fiber/3iehel HIZaT

(d) VOIP/dt 311 318 tﬁ

N’V




In which of the following research methods,
manipulation and control of variables, and
randomization of samples are two basic
requirements?

frfafga o & fora o fafer o =) ufted= o

W (AgeyT) iR foesur qem wfaeyt o

ATETSIRTTT, B TET UL §?

(a) Ex-post facto research/&ARR MY

(b) Descriptive research/auiATeTS MY

(¢) Case study research/aa(¥ 37T 9Ny
) Experimental research/m\l?ﬁ)/

Uﬂ\q‘/:w\
oA




In a certain coded language "CHEMISTRY' is
written as DGFLJRUQZ, then in the same code
'GEOMETRY' will be writtg_n_ as:

afg ferdt e wreT_H _CHEMISTRY'
'DGFLJRUQZ' feTam Srar § & g4t e wre
H 'GEOMETRY' &t fr® ®u @ forar simam:
(a) HDPLFSSZ (b) HDLPFSXS

(¢) HLDPFSSX ( (d) HDPLFSSX—

o




The next term in the following series is B,
BCF, CDL? Q\

\/WWﬁmuawm?
ABB, BCF,CDL? Dp

(a) DEU ) DET 4
(¢) DES @
g é - (L




The key of active listening by students in ¢

classroom is

foenfefal g wem W gl €T W gAA @
STUT ¢

(a) Sympathy towards the teacher

frerss o wfd w@Yfd
(b) Interest in informal education
e e # wfy
\e() Empathetic learning/dad¥fdeh Siferm /
(d) Desire to memorize/SRUT i & A8




Communicated message is considered as a/an__
ToTRd WY chl WIHT SITAT § @
(a) Social product/dMISH IS /

(b) Unnatural product/TR - Shfdeh 3came

(¢) Spin-off product/3aferd (= - 37h) I
(d) Techno product/@a:ﬁ 3T
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ICT application in research is most useful for
which of the following reasons?

frafafiaa o 9 fre RuT & TR Uy oier |
oA AR GUWUT Wrenftent (Mg Htdl) @
YA TAifereh U 72
(a) For reducing the cost of research

MY FH AT HH FH & U

(b) For academic decoration/3TehaHeh 3TcichU] %g
For enhancing the scope of accessibility of

research data/‘éﬁ%i.??n Yedl @ 3ucteddl o |
Tigel § faer 3q

(d) For promoting dialogic interactions

HaraTHeS 3ia:fhaT & HaEH 7



A student finds its difficult to understand,
analyse and interpret the concepts and

principles relating to a subm study
formally prescribed. Which learner

characteristics would be most relevant in such
a situation to be probed?

U Terameff st 3fuenier T @ fafga fausr &6
IETTAT W ITTURUM 3T Racgiar o sTaarer,
favermur ik e ® wfsars gt gl U

fearfs o aRrmeral & ®ia-W 3 7RTeTeroT
(fagraaret) sl STl shiaT Jad ‘Fi'ﬂiry?
(a) Academic characteristics

viferen 3Afircrerur/ fearsroard

(b) Social characteristics
qraifsTe 3AfrereroT, fergisand
(¢) Emotional characteristics
\/i'oiqdlmoh 3fereTeroT/ forgieard
) C

ognitive characteristics

TS 31farereror/ faerand =
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